

City of Clearwater

Procurement

Jay Ravins, Department Director 100 South Myrtle Avenue, Clearwater, FL 33756

EVALUATION TABULATION

ITB No. 25-0001-EN Sidewalks

RESPONSE DEADLINE: April 16, 2025 at 2:00 pm Report Generated: Wednesday, May 14, 2025

SELECTED VENDOR TOTALS

Vendor	Total
Central Florida Contractors Inc	\$1,095,072.275
Apollo Construction & Engineering Services, Inc.	\$1,855,618.73
American Construction Services, Inc. of Tampa	\$2,049,862.91
Stage Door II, LLC	\$2,188,780.00
The SOS Team	\$2,360,067.60
Florida Asphalt Contractors, LLC	\$2,465,982.15
Mike`s Elite Contracting Inc	\$2,694,218.00
Ajax Paving Industries of Florida, LLC	\$5,280,000.00

SIDEWALK (Table 1 of 2)

		Sidewalk				Industries of da, LLC		Construction nc. of Tampa		nstruction & Services, Inc.		l Florida ctors Inc		alt Contractors, LC
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
New Sid	ewalk								'		•			
Mobiliza	tion an	d Site Preparation												
X	1.1	Maintenance of Traffic	1	LS	\$400,000.0	\$400,000.00	\$8,500.00	\$8,500.00	\$167,907.7 3	\$167,907.73	\$15,000.0 0	\$15,000.00	\$115,000.0 0	\$115,000.00
Х	1.2	Mobilization (5%)	1	LS	\$200,000.0	\$200,000.00	\$44,382.0 0	\$44,382.00	\$67,673.74	\$67,673.74	\$10,000.0 0	\$10,000.00	\$110,000.0 0	\$110,000.00
Х	1.3	Demolition (5%)	1	LS	\$200,000.0	\$200,000.00	\$44,382.0 0	\$44,382.00	\$67,673.74	\$67,673.74	\$10,000.0	\$10,000.00	\$110,000.0 0	\$110,000.00
X	1.4	Erosion and Sediment Control	1	LS	\$7,500.00	\$7,500.00	\$3,187.00	\$3,187.00	\$33,803.19	\$33,803.19	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
Х	1.5	Root Pruning	558	LF	\$128.00	\$71,424.00	\$8.00	\$4,464.00	\$6.78	\$3,783.24	\$5.00	\$2,790.00	\$39.95	\$22,292.10
X	1.6	Sprinklers (Yard Frontage)(Sectio n IVa)	500	LF	\$71.00	\$35,500.00	\$10.00	\$5,000.00	\$3.00	\$1,500.00	\$8.00	\$4,000.00	\$10.60	\$5,300.00
Х	1.7	Sod- St. Augustine (if needed)	1200	SF	\$0.75	\$900.00	\$3.75	\$4,500.00	\$6.50	\$7,800.00	\$3.00	\$3,600.00	\$5.75	\$6,900.00
Х	1.8	Sod- Bahia (if needed)	1200	SF	\$1.50	\$1,800.00	\$3.75	\$4,500.00	\$6.50	\$7,800.00	\$3.00	\$3,600.00	\$5.30	\$6,360.00
X	1.9	Project Sign (portable)	1	LS	\$3,194.15	\$3,194.15	\$625.00	\$625.00	\$27.50	\$27.50	\$1,000.00	\$1,000.00	\$1,700.00	\$1,700.00
X	1.10	Tree Removal (4"-12" DIA)	4	EA	\$3,000.00	\$12,000.00	\$1,197.00	\$4,788.00	\$1,100.00	\$4,400.00	\$750.00	\$3,000.00	\$2,900.00	\$11,600.00

		Sidewalk				Industries of da, LLC		Construction nc. of Tampa		nstruction & Services, Inc.		l Florida ctors Inc		alt Contractors, LLC
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1.11	Tree Removal (13"-24" DIA)	1	EA	\$3,750.00	\$3,750.00	\$2,467.15	\$2,467.15	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00	\$5,100.00	\$5,100.00
Х	1.12	Tree Removal (25"-36" DIA)	1	EA	\$5,250.00	\$5,250.00	\$2,985.00	\$2,985.00	\$3,510.98	\$3,510.98	\$1,500.00	\$1,500.00	\$7,350.00	\$7,350.00
X	1.13	Tree Removal (Greater than 36" DIA)	1	EA	\$9,000.00	\$9,000.00	\$3,552.15	\$3,552.15	\$4,100.00	\$4,100.00	\$5,000.00	\$5,000.00	\$9,600.00	\$9,600.00
X	1.14	Tree Removal (Palm)	4	EA	\$7,530.00	\$30,120.00	\$1,265.00	\$5,060.00	\$5,700.00	\$22,800.00	\$500.00	\$2,000.00	\$2,400.00	\$9,600.00
New Side	ewalk										'			
X	2.1	4" Thick Concrete Sidewalk (3000psi w/ fiber mesh)	1500	SF	\$20.00	\$30,000.00	\$14.06	\$21,090.00	\$10.00	\$15,000.00	\$6.50	\$9,750.00	\$15.05	\$22,575.00
X	2.2	6" Thick Concrete Sidewalk (3000psi w/ fiber mesh)	20000	SF	\$28.20	\$564,000.00	\$17.06	\$341,200.00	\$15.00	\$300,000.00	\$8.75	\$175,000.0 0	\$17.45	\$349,000.00
Х	2.3	6" Thick Concrete Driveway apron (3000 psi w/ fiber mesh reinforcing & wwf)	735	SF	\$22.75	\$16,721.25	\$20.88	\$15,346.80	\$17.50	\$12,862.50	\$8.75	\$6,431.25	\$18.05	\$13,266.75

		Sidewalk				; Industries of da, LLC		Construction nc. of Tampa		nstruction & g Services, Inc.		al Florida octors Inc		alt Contractors, LC
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	2.4	Install Detectable Warning Mats on Existing Sidewalk Ramps	38	EA	\$677.70	\$25,752.60	\$821.80	\$31,228.40	\$432.00	\$16,416.00	\$250.00	\$9,500.00	\$455.00	\$17,290.00
Х	2.5	ADA mat only (detectable warning surface installed on existing conc.)	200	EA	\$677.70	\$135,540.00	\$234.80	\$46,960.00	\$501.72	\$100,344.00	\$250.00	\$50,000.00	\$395.00	\$79,000.00
Х	2.6	ADA ramps with mat FDOT 304, CR-E, CR-F, CR-L & City Index 109	80	EA	\$8,425.00	\$674,000.00	\$2,274.00	\$181,920.00	\$1,400.00	\$112,000.00	\$950.00	\$76,000.00	\$1,450.00	\$116,000.00
Х	2.7	ADA ramps with modified valley gutter	46	EA	\$9,565.00	\$439,990.00	\$1,665.30	\$76,603.80	\$880.00	\$40,480.00	\$950.00	\$43,700.00	\$2,600.00	\$119,600.00
X	2.8	Remove & Construct transition curb as required (ADA ramps)	142	LF	\$182.00	\$25,844.00	\$68.97	\$9,793.74	\$88.00	\$12,496.00	\$37.00	\$5,254.00	\$38.65	\$5,488.30
Х	2.9	City Valley Gutter Curb	115	LF	\$244.00	\$28,060.00	\$60.63	\$6,972.45	\$34.00	\$3,910.00	\$37.00	\$4,255.00	\$62.00	\$7,130.00
Paving							1					1	1	
Х	3.1	1.5" FDOT Type S Asphalt	1480	SY	\$88.70	\$131,276.00	\$22.38	\$33,122.40	\$41.32	\$61,153.60	\$30.00	\$44,400.00	\$24.15	\$35,742.00

		Sidewalk				Industries of da, LLC		Construction nc. of Tampa		nstruction & g Services, Inc.		l Florida ctors Inc		alt Contractors, LLC
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	3.2	4"Crushed Concrete Base	1480	SY	\$94.60	\$140,008.00	\$53.55	\$79,254.00	\$11.93	\$17,656.40	\$25.00	\$37,000.00	\$34.30	\$50,764.00
Repair ar	nd Rep	ace Sidewalk												
Х	4.1	4" Thick Concrete sidewalk (3000 psi w/ fiber mesh)	1500	SF	\$9.80	\$14,700.00	\$14.06	\$21,090.00	\$9.50	\$14,250.00	\$8.00	\$12,000.00	\$15.05	\$22,575.00
Х	4.2	4" Thick concrete sidewalk Construction with Tree Protection	3000	SF	\$17.50	\$52,500.00	\$18.13	\$54,390.00	\$12.50	\$37,500.00	\$8.00	\$24,000.00	\$27.50	\$82,500.00
Х	4.3	6" Thick Concrete Sidewalk (3000psi w/fiber mesh & wwf)	16000	SF	\$28.30	\$452,800.00	\$17.06	\$272,960.00	\$14.00	\$224,000.00	\$10.00	\$160,000.0 0	\$18.05	\$288,800.00
Х	4.4	6" Thick concrete sidewalk repair with tree protection	10000	SF	\$26.10	\$261,000.00	\$20.81	\$208,100.00	\$16.05	\$160,500.00	\$11.00	\$110,000.0 0	\$28.95	\$289,500.00
X	4.5	ADA ramps with modified valley gutter	6	EA	\$14,835.00	\$89,010.00	\$1,706.25	\$10,237.50	\$785.00	\$4,710.00	\$2,500.00	\$15,000.00	\$2,600.00	\$15,600.00

		Sidewalk				Industries of da, LLC		Construction Inc. of Tampa		nstruction & Services, Inc.		I Florida ctors Inc		alt Contractors, LLC
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	4.6	Remove & Construct transition curb as required (ADA ramps)	15	LF	\$770.00	\$11,550.00	\$68.97	\$1,034.55	\$59.50	\$892.50	\$37.00	\$555.00	\$38.65	\$579.75
Х	4.7	6" thick concrete driveway apron (3000 psi w/fiber mesh reinforcing & wwf)	735	SF	\$31.00	\$22,785.00	\$20.88	\$15,346.80	\$15.00	\$11,025.00	\$11.00	\$8,085.00	\$18.05	\$13,266.75
Curb						,		<u> </u>		,				
Х	5.1	Modified Curb (R&R)	1275	LF	\$145.00	\$184,875.00	\$68.93	\$87,885.75	\$31.50	\$40,162.50	\$37.00	\$47,175.00	\$66.70	\$85,042.50
Х	5.2	Valley Curb (R& R)	1275	LF	\$166.00	\$211,650.00	\$68.93	\$87,885.75	\$31.50	\$40,162.50	\$37.00	\$47,175.00	\$66.70	\$85,042.50
Х	5.3	Type 1 curb (R&R)	750	LF	\$246.00	\$184,500.00	\$68.93	\$51,697.50	\$31.50	\$23,625.00	\$37.00	\$27,750.00	\$76.65	\$57,487.50
Х	5.4	12" Stabilized subgrade (LBR40)	1000	SY	\$123.00	\$123,000.00	\$71.00	\$71,000.00	\$41.50	\$41,500.00	\$15.00	\$15,000.00	\$56.25	\$56,250.00
Total				_		\$4,800,000.0		\$1,863,511.7 4		\$1,686,926.1 2		\$995,520.2 5		\$2,241,802.1 5

SIDEWALK (Table 2 of 2)

	Sidewalk Selected Line Item Description Quantity Unit of Mea					ontracting Inc	Stage Do	oor II, LLC	The SOS Team	
Selected	Selected Line Item Description Quantity Unit of Measu					Total	Unit Cost	Total	Unit Cost	Total
New Sidewalk										

EVALUATION TABULATION Invitation To Bid - Sidewalks Page 6

		Sidewalk			Mike's Elite (Contracting Inc	Stage Do	oor II, LLC	The SC	S Team
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Mobilization and	Site Preparation	1				•				
Х	1.1	Maintenance of Traffic	1	LS	\$2,020.00	\$2,020.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00
X	1.2	Mobilization (5%)	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
X	1.3	Demolition (5%)	1	LS	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
Х	1.4	Erosion and Sediment Control	1	LS	\$4,999.00	\$4,999.00	\$2,500.00	\$2,500.00	\$30,000.00	\$30,000.00
X	1.5	Root Pruning	558	LF	\$64.00	\$35,712.00	\$10.00	\$5,580.00	\$12.00	\$6,696.00
Х	1.6	Sprinklers (Yard Frontage)(Section IVa)	500	LF	\$35.00	\$17,500.00	\$10.00	\$5,000.00	\$10.00	\$5,000.00
X	1.7	Sod- St. Augustine (if needed)	1200	SF	\$1.49	\$1,788.00	\$3.00	\$3,600.00	\$2.50	\$3,000.00
Х	1.8	Sod- Bahia (if needed)	1200	SF	\$1.39	\$1,668.00	\$2.00	\$2,400.00	\$2.00	\$2,400.00
Х	1.9	Project Sign (portable)	1	LS	\$2,499.00	\$2,499.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00
Х	1.10	Tree Removal (4"-12" DIA)	4	EA	\$798.00	\$3,192.00	\$1,100.00	\$4,400.00	\$1,000.00	\$4,000.00
X	1.11	Tree Removal (13"-24" DIA)	1	EA	\$2,500.00	\$2,500.00	\$1,750.00	\$1,750.00	\$2,200.00	\$2,200.00
X	1.12	Tree Removal (25"-36" DIA)	1	EA	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00

		Sidewalk			Mike's Elite	Contracting Inc	Stage Do	oor II, LLC	The SC	S Team
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1.13	Tree Removal (Greater than 36" DIA)	1	EA	\$6,499.00	\$6,499.00	\$4,500.00	\$4,500.00	\$10,000.00	\$10,000.00
Х	1.14	Tree Removal (Palm)	4	EA	\$449.00	\$1,796.00	\$800.00	\$3,200.00	\$12,000.00	\$48,000.00
New Sidewalk										
Х	2.1	4" Thick Concrete Sidewalk (3000psi w/ fiber mesh)	1500	SF	\$15.00	\$22,500.00	\$16.00	\$24,000.00	\$16.00	\$24,000.00
Х	2.2	6" Thick Concrete Sidewalk (3000psi w/ fiber mesh)	20000	SF	\$22.00	\$440,000.00	\$20.00	\$400,000.00	\$18.00	\$360,000.00
Х	2.3	6" Thick Concrete Driveway apron (3000 psi w/ fiber mesh reinforcing & wwf)	735	SF	\$32.00	\$23,520.00	\$21.00	\$15,435.00	\$20.00	\$14,700.00
Х	2.4	Install Detectable Warning Mats on Existing Sidewalk Ramps	38	EA	\$369.00	\$14,022.00	\$500.00	\$19,000.00	\$500.00	\$19,000.00
Х	2.5	ADA mat only (detectable warning surface installed on existing conc.)	200	EA	\$370.00	\$74,000.00	\$500.00	\$100,000.00	\$750.00	\$150,000.00

		Sidewalk			Mike's Elite (Contracting Inc	Stage Do	oor II, LLC	The SC	OS Team
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	2.6	ADA ramps with mat FDOT 304, CR-E, CR-F, CR-L & City Index 109	80	EA	\$229.00	\$18,320.00	\$2,500.00	\$200,000.00	\$1,200.00	\$96,000.00
Х	2.7	ADA ramps with modified valley gutter	46	EA	\$139.00	\$6,394.00	\$2,500.00	\$115,000.00	\$1,500.00	\$69,000.00
Х	2.8	Remove & Construct transition curb as required (ADA ramps)	142	LF	\$229.00	\$32,518.00	\$75.00	\$10,650.00	\$55.00	\$7,810.00
Х	2.9	City Valley Gutter Curb	115	LF	\$240.00	\$27,600.00	\$75.00	\$8,625.00	\$100.00	\$11,500.00
Paving									1	
Х	3.1	1.5" FDOT Type S Asphalt	1480	SY	\$84.00	\$124,320.00	\$35.00	\$51,800.00	\$50.00	\$74,000.00
Х	3.2	4"Crushed Concrete Base	1480	SY	\$48.00	\$71,040.00	\$35.00	\$51,800.00	\$60.00	\$88,800.00
Repair and Repla	ce Sidewalk									
X	4.1	4" Thick Concrete sidewalk (3000 psi w/ fiber mesh)	1500	SF	\$15.00	\$22,500.00	\$16.00	\$24,000.00	\$26.50	\$39,750.00
Х	4.2	4" Thick concrete sidewalk Construction with Tree Protection	3000	SF	\$18.00	\$54,000.00	\$20.00	\$60,000.00	\$27.50	\$82,500.00

		Sidewalk			Mike's Elite (Contracting Inc	Stage Do	oor II, LLC	The SC	OS Team
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	4.3	6" Thick Concrete Sidewalk (3000psi w/fiber mesh & wwf)	16000	SF	\$32.00	\$512,000.00	\$21.00	\$336,000.00	\$29.00	\$464,000.00
Х	4.4	6" Thick concrete sidewalk repair with tree protection	10000	SF	\$32.00	\$320,000.00	\$24.00	\$240,000.00	\$30.00	\$300,000.00
X	4.5	ADA ramps with modified valley gutter	6	EA	\$230.00	\$1,380.00	\$2,500.00	\$15,000.00	\$1,600.00	\$9,600.00
Х	4.6	Remove & Construct transition curb as required (ADA ramps)	15	LF	\$240.00	\$3,600.00	\$75.00	\$1,125.00	\$65.00	\$975.00
X	4.7	6" thick concrete driveway apron (3000 psi w/fiber mesh reinforcing & wwf)	735	SF	\$32.00	\$23,520.00	\$21.00	\$15,435.00	\$31.00	\$22,785.00
Curb	'	' "		'		'	l	'		'
X	5.1	Modified Curb (R&R)	1275	LF	\$230.00	\$293,250.00	\$60.00	\$76,500.00	\$30.00	\$38,250.00
X	5.2	Valley Curb (R&R)	1275	LF	\$139.00	\$177,225.00	\$60.00	\$76,500.00	\$32.00	\$40,800.00
Х	5.3	Type 1 curb (R&R)	750	LF	\$150.00	\$112,500.00	\$60.00	\$45,000.00	\$35.00	\$26,250.00
X	5.3	Type 1 curb	750	LF	\$150.00	\$112,500.00	\$60.00	\$45,000.00	\$35.00	

		Sidewalk			Mike's Elite Contracting Inc		Stage Do	oor II, LLC	The SOS Team	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	5.4	12" Stabilized subgrade (LBR40)	1000	SY	\$9.00	\$9,000.00	\$45.00	\$45,000.00	\$18.00	\$18,000.00
Total	Total					\$2,480,382.00		\$1,989,800.00		\$2,145,516.00

MOBILIZATION AND SITE PREPARARION, NEW SIDEWALK, PAVING, REPAIR AND REPLACE SIDEWALK AND CURB 10% CONTINGENCY AND CONTRACT TOTAL FOR LINE ITEMS 1-5 ABOVE (Table 1 of 2)

Mobilization and Site Prepararion, New Sidewalk, Paving, Repair and Replace Sidewalk and Curb 10% Contingency and Contract Total for Line Items 1-5 above				Ajax Paving Industries of Florida, LLC		American Construction Services, Inc. of Tampa		Apollo Construction & Engineering Services, Inc.		Central Florida Contractors Inc		Florida Asphalt Contractors, LLC		
Selecte d	Line Ite m	Description	Quantit y	Unit of Measur e	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1	10% Contingenc y for Line Items 1-5 Above	1	LS	\$480,000.00	\$480,000.00	\$186,351.17	\$186,351.17	\$168,692.61	\$168,692.61	\$99,552.025	\$99,552.025	\$224,180.00	\$224,180.00
	2	Contingenc y total and Total from Line Items 1-5 Above	1	LS	\$4,800,000.0	\$4,800,000.0	\$1,863,511.7 4	\$1,863,511.7 4	\$1,686,926.1 2	\$1,686,926.1 2	\$1,095,072.2 8	\$1,095,072.2 8	\$2,465,982.1 5	\$2,465,982.1 5
Total	Total					\$480,000.00		\$186,351.17		\$168,692.61		\$99,552.025		\$224,180.00

MOBILIZATION AND SITE PREPARARION, NEW SIDEWALK, PAVING, REPAIR AND REPLACE SIDEWALK AND CURB 10% CONTINGENCY AND CONTRACT TOTAL FOR LINE ITEMS 1-5 ABOVE (Table 2 of 2)

		n, New Sidewalk, Pa cy and Contract Tota			Mike`s Elite C	ontracting Inc	Stage Door II, LLC		The SOS Team	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	10% Contingency for Line Items 1-5 Above	1	LS	\$213,836.00	\$213,836.00	\$198,980.00	\$198,980.00	\$214,551.60	\$214,551.60
	2	Contingency total and Total from Line Items 1-5 Above	1	LS	\$213,836.00	\$213,836.00	\$1,989,800.00	\$1,989,800.00	\$2,360,067.60	\$2,360,067.60
Total	Total					\$213,836.00		\$198,980.00		\$214,551.60